Homework about Recursion
1. What is the output of the triple-recursive function  mystery(4), where
    public static void mystery(int n)
    {
        if (n == 1)
            System.out.println(n);
        else
        {
            mystery(n-1);
            System.out.println(n);
            mystery(n-1);
            System.out.println(n);
            mystery(n-1);
        }
    }
2. In class, some time ago, we created the sequential search function:    
/* This function searches whether ‘key’ is contained in the first n entries in 

   the array A. If so it returns the first index where key is in A, otherwise 

   it will return -1. 

   For example, if A = [1, 3, 6, 4] then seq_search(A, 6, 4) will return 2 
*/

public static int seq_search(int A[], int key, int n)
{
   for (int i = 0; i < n-1; i++)
   {

      if (A[i] == key)

         return i;

   }

   return -1;
}
Replace that iterative function by a recursive one. Make sure to test it. Discuss the pros and cons of each version.
For extra credit, create a recursive binary_search method to search an array that is sorted in increasing order.

3. In class we created a recursive function to compute the n-th Fibonacci number:

    public static int fib(int n)
    {
        if (n <= 2)
            return 1;
        else
            return fib(n-1) + fib(n-2);
    }
Create a non-recursive function to compute the n-th Fibonacci number. Discuss pros and cons of either function.
